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vInput Value

-I_Money : Enumalation
O(No Input) ,1(10Won),2(50Won),3(100Won),4(500Won)

-1 Coffee : Enumalation
O(No Input),14(Milk),15(Black),16(Sugar),17(Cocoa)

-1 Return ; Boolean
if i_Return value is 1, bending machine returns money.



v'Output Value

-f_ Money_LCD : Range(0....500)

-f_Coffee_Lamp : Boolean

if f_Coffee_Lamp value is 1, consumer can click
|_Coffee button

-f Coffee : Enumalation
-f_Return : Range(0....500)
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File Edit Run View
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WROM-YWating-TO-Correct_Input-taken | 1 o
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WFROM-Wating-TO-YWating-taken | O o
STATE | Wating |Correct
f Control| 12 10
tin-Correct Coffee | O o
Min-Correct_|nput O 1
Ch &t 2554 #3554 o 2Bz oz
AG{ i_Return = 1 & i_Money = 0 & i_Coffee =0 & h_Money_LCD = 500 | =0] 500 QIS Of Hizt M=7 SH2H TRUE HE4M0| BHEZ S BOIS
= AX f Return = 500 ) DOSIO| BHZHE|O{Of SHC} == -TEETE=
- £ 0 23 HOE EZsicts
AG[ i _Coffee = 1 & i_Money = 0 & i_Return = 0 SE =_35'-:EEE=,==_'_3}3 TaUE B —
& f Mo ney_LCD = 500 -> AX f Coffee = 14 & f Money_LCD = 470) === == —TEETES
’ D= 470 EA|SHCH
- AG[ i_Coffee == 1 & i_Coffee == 4 & i_Money = 0 & i_Return = 0 2t= HEFF 203 HIOFF =D - - —
Entire  [75t- - —eney - = = = RUE |zZaso =2 mog
&f Money_LCD = 100 -» AX f Coffee »=14 & f Coffee<=17) EEmerlEmEE meS
th_Contrel_Walue®| A i_MoneyZHo
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Conditions 1 2 3 4
iMoney =1 & 1 Coffee = 0 & 1 Beturn = 0
B - - T F F F
iMoney = 2 ¢ 1 Coffee = 0 & 1 Return = 0
B - - F T F F
iMoney = 3 & 1 Coffee = 0 & 1 Return = 0
B - - F F T F
1 Money = 4 & 1 Coffee = 0 & 1 Beturn = 0
B - - F F F T
1 Coffee =1 & 1 Money =0 & 1 Return = 0
B B - F F F F
1 Coffee = 2 & 1 Money = 0 & 1 Return = 0
B B - F F F F

Click far combo box

i Coffee = 3 & 1 Money = 0 & 1 Beturn = 0
B B - F F F F
i Coffee =4 & 1 Money = 0 & 1 Beturn = 0
B B - F F F F
iFeturn = 1 & 1 Coffee =0 ¢ 1 Noney =100
B B - F F F F
i Coffee =0 & 1 Money = 0 & 1 Return = 0
B B - F F F F




Action

10

f Control :

Len

f Control :

fifty

f Control :

hundred

f Control :

five hundred

f Control :

nilk

f Control :

bhlack

f Control :

ugar

f Control :

cocoa

f Control :

Return

f Control :

No_Input
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1 Description
[ E===H
—d Templaterumber
[ Input
[y i_Return : boolean

[y i_coffes :{1,2,2,4,0}

[y i_money:{1,2,3,4,0}
] Cutput

[y contral :§10,12,12,11,14,15,16,17,19,18}

] Sonstant

[ true =1
[ false =0
[ ten =10

[ hundred =12

[4 five_hundred =13
[Ty fiftw == 11

[ milkk =14

[y black =15

[y sugar =186

[y cocoa=17

[y Mo_lnput:=14%

[ Return =12

This function role is integrating one value
from 3 inputed values.
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Conditions 1
th Control Walue = Eeturn | £ Control = Return T
Action 1
f REeturn := £ Money LCD_t0 0
f Feturn := false
iy 2554 2354 o) 2521 £4571
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AX f_Retumn = 200 ) J2E0) J00HE [ 008E BT

If th_Control_Value or f_Return is 1, current money return.
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This group manage money and coffee lamp, money LCD,

taking coffee.
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